April 9, 2025
Math TA Worksheet, #26

| Name

1. Compute the limit  Use L'Hopital's rule when appropriate. If a more elementary method is possible,
consider chacking your answer in that way.
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2. 10 7 is comtinmouns, f(2) = 0, f'(2) = 7, ovalnate
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(a) If f' is continuous, use L'Hopital’s rule to show that A I/) ¢ ﬂ a / f Jna ﬂl VYin |7 ///éf f “m,
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(b) If f” is continuous, use L'Hopital’s rule to show that

o [@+ ) =2/(@) + flo—h) _
h—0 h?

f'(@).




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

